Topic: Identifying Sentence Errors              

Chapter: Wordiness and Redundancies 2

Sentences heavy with redundant words need to be edited as they don’t add to its meaning. Such sentences are lengthy and often boring. To detect redundant words and phrases, it is important to understand the meaning of the sentence. If the same thought is unnecessarily repeated, then it should be omitted. Good sentences have an economy of expression.

Practice Questions

Q1. As soon as the movie was over, John made a beeline for the exit, looking for a quick 

               A                               B                                 C                                         D

route. No error.

                E

Correct Answer: D 

Explanation: It is redundant as C explains it.

Q2. Yielding to them, eventually the descendants of England’s Henry II were forced 

                   A                                             B

to cede their French territories to the King of France.  No error.

     C                                                  D                                 E

Correct Answer: A

Explanation: It is redundant as C explains it.

Q3. Though not a professional cartographer, Tolkien was able to construct a map of his 

               A                               B                                          C

fictional world. No error.

            D                 E

Correct Answer: E 

Explanation: There are no errors.

Q4. The 1906 San Francisco earthquake was a catastrophe that destroyed in a calamity 

              A                                                              B                                              C

most of the city. No error.

               D               E

Correct Answer: C 

Explanation: It is redundant as B explains it.

Q5. Lacking his code book, the spy was unable to decode the message sent to him 

                        A                                        B

in cipher and in secret code. No error.
      C                       D                  E

Correct Answer: D 

Explanation: It is redundant as C explains it.

Q6. Using roundabout expressions, he was afraid to call a spade a spade and 

                              A                                      B

resorted to circumlocution to avoid direct reference to his subject. No error.

                   C                                                 D                                       E

Correct Answer: A 

Explanation: It is redundant as C explains it.

